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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot Sensor and FgRec Data
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['ETcl’, "optETcl’], 'LAl', ’optEtRate’]

['T", "Topt’], ['RH', 'RHopt'],
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Plot [['I",
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Plot [['setVlI ETcl’, 'setVI fgRec', ’'setVI VN ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]

8.0 -

7.5 1

7.0

6.5

Warning: col| ['PHC’, 'FVIPH ] is missing

/

—@— PHI

60

70 80

90

100

110

120

130




Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forXX6 0
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XX6

E&PH (7.31) R
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08:00 51 20.0 i FEA@08:00 (K FA{ERSE)
09:00 51 20.0 i FEA@09:00 (K FIERSE)
10:00 51 20. 0 i FEA@10:00 (K AIEREE)
11:00 51 20.0 i FEA@11:00 (K AIERSE)
12:05 51 20.0 i FEA@12:05 (KAIERSE)
13:00 51 20.0 i ¥iHAe@13:00 (KRF{ERES)
14:10 51 20.0 i FnHfe14:10 (REERES)
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XX6_0, Day=132 (2025-03-07)
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08:50 172 20.0 {5 1i1%@08:50 (K FAfER%=2)
09:40 172 20.0 i Bi%@09:40 (RFA{ERELEE)
10:30 172 20.0 i ’Ri1%@10:30 (kAfEREE)
11:20 172 20. 0 i Ri%@11:20 (KRAERSE)
12:10 172 20.0 i Bi%@12:10 (REERE)
13:00 172 20.0 i ’Ri&@13:00 (kPBEREE)
13:55 172 20.0 i BRi&@13:55 (KRFERSE)
2it|1204.0 (7% 140.0 3EGHKEC: 3000, PH: 6.5
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unusual large postFgEt from yesterday (97), set to 60.0 ml.
[El;&PH (7.48) /e
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